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static double[][] Memo;
static double[] p;
static double[] r;
static int n;

static int k;

public static void testCase() {
// Input using In.java class
int g = In.readInt();
n = In.readInt();
k = In.readInt();
p = new double[n];
T new double[n];
for(int i=0;i<n;i++){
p[i] = In.readDouble();
r[i] = In.readDouble();
}
if (q == 1){
double sum = @;
for(int i=0;i<n;i++){
sum += 1 - (p[il*r[i]);
}
Qut.println(sum);
}
else if (g==2){
double out = r[1] * p[o]l*r[0];
out /= (out + p[1]*r[1]*x(1-p[@]*r[0]));
Out.println(out);
}
elsef
Memo = new double[n][k+1];
for(int 1=0;i<n;i++){
for(int j=0;3j<k+1;j++){
Memo[i][j] = -1;
}
t
Out.println(solve(0,0));
}

// Output using Out.java class

}

public static double solve(int curBag, int consecutive){
if(curBag == n) return 0;
if(Memo[curBag][consecutive] != -1) return Memo[curBag][consecutivel;
if(consecutive >= k){
return Memo[curBag][consecutive] = (@ + solve(curBag+l, consecutive) * r[curBag])
+ (1 + solve(curBag+l, 0)) * (1-r[curBag]);
I3
else{
return Memo[curBag][consecutive] = (@ + solve(curBag+l, consecutive+l) *
plcurBag] = r[curBag])
+ (1 + solve(curBag+l, 0)) * (1-(pl[curBag] * r[curBagl));




